n3= SetDirectory["C \\drorbn\\ Acadeni cPensi eve\\ 2012-01"];
<< betaCal cul us. m

npsk= {ar [1, 11 ** R[1, 2], R[1, 2] »=ar [1, 1]}
(-1+e°M) h[2]t [1] (-1+e°M) h[2]t [1]
out1s)= {h[l] t[1] + +W1], h{1]t (1] + +V\{1]}
c[1] c[1]

n7i= (V= WMw] + aar [1, 1] + Bar[1, 2] + yar[2, 1] + éar[2, 2]) // BForm

Out[17])//MatrixForm=

Ww] hil] h[2] J
t[l] « B
t[2] v 5

npel= Va = aar [1, 1]

oufisl= ah[1]t [1]

nesl= {Vax*xdA[l, 1, 2]1[R[1, 3]]1, R[1l, 3] *»*R[2, 3] »*xVa, Vas*xR[1l, 3] *x»R[2, 3]} // BForm

W1] h[1] h[3] W1) h(1] h(3] W1] h[1] h([3]
_1+eClll+c(2] ~1secll] _1+eCl1]
Out[28]= { t [1} o c[l]+c[2] y t [1} o c[l] y t [1} @ c[l] }
{2 _14eClll+cl2] el (~14eti2) el (~1yeti2)
[2] e t2l 0 — o — ter 0 — o —

nei- {t1=Vaxda[l, 1, 2] [R[1, 3]], t2 = R[1, 3] **«R[2, 3] #*V} // BForm

Ww] hil] h[2] h[3]

(71+e°[11*°[21) (1+aC[1]+BC[l]+aBC[1]2+BC[2]+5C[2]+aBC[1] c[2]+asc[1] C[2]+Byc[2]2)
(c[1]+c[2]) (l+ac[l]+yc[2]) (1+Bc[l]+6¢C[2])

(-1+ectti=el2)) (1iac[1]+yc[1]+Byc[L1]%+yc[2]+6C[2]+abC[Ll] c[2]+ySC[1l] c[2]+yS5C[2]?)
(c[1]+c[2]) (l+ac[l]+yc[2]) (1+Bc[l]+6¢C[2])

Out[21]= {

ne7= {tl, t2} /. {B|¥|é6 » 0, W~ 0} // BForm

0 h[1] h[3] 0 h[1] h[3]
_1ieclll+c(2] 1iecll]
Oout[27]= { t[1] & c[l]+c[2] , t1] o c(1] }
t 12 0 _14eClll+cl2] el (~1+e802))
(2] c[l]+c([2] t[2] 0 c[2]



